EARAROBREBRT —5 XN—ZXBISH—F 2024548148 (B) 3@4LLI8H

NN SR 3m REF 4t T S ‘(fﬁ} i ‘[%EH?’JF&] ~ | & 180m =
(AE=] 17 :5,500,000 F 2 %:2,200,000 @ ~ 375 :1,400,000 [} 4 7% :830,000 [ 5 7 : 550,000 [

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
1111217330y 7Y 3 ng%{b 1:(55)).9 13-13-10-10/ 38.8 | 83.8 | 10 (4322) EEEEHDEQ_ R
RIN=YISA B:FvUTA—S4Y #HET7—L
S » % 3 | M. FL—0O 1:56.0 14-14-11-11| 38.7 | 83.0 | 6 | 428 |FIHEN GEA)
20 12| XM ¥avazx0+ 55.0 (/4) gy | AAERIE
R:OYv—NO—R B:ASY3IIAHE ZH =3k
~ it 3 | EREA 1:56.2 5-5-4-4 | 40.2| 81.9 | 8 478 | B A
3PN 7 | F—FrY 55.0 11/2) (2 |HEES
R:O03947 8:F7 /7L H mE
~ b 3 | #ELUESE 1:56.7 8-7-6-5 |40.5| 78.0 | 3 478 | HEZEN GEH)
4 15 IOVik—=Ib £ 55.0 3) “8) TRLT 1Y
RIN—EYIv— B:XVFUKR—I S—L—- Vv XY - TF—LERE
~ S s 3 | BYRES 1:56.9 8-8-7-7 | 40.6| 76.4 | 1 M6 | HE—H EH)
s ¢ LAYV FRU [B] 55.0 ) () | BT
R:O0—RAF0O7 B:ZY/IFLRAX H—RSN—T 2RIV R
NI~ ) A s 3 | PlEEX 1:57.0 1-2-2-1 | 41.2| 76.0 | 4 | 482 |/N\EHmsh GEE)
sl g | E7VTY 55.0 P (16 | RIRHE
RiNZ—ka1—X B:LYRISOTF«T /=Y Tr—I
) 4t 3 | RERE 1:57.0 2-2-2-2 | 41.2]76.0 | 5 468 | TTNIE% (58)
6|5/10 FHILA 4520 (@) (©) | EOFEEAES
RiFPAUAYRA NUAY N B:SVU—F FERBUS
o), — f 3 | SH2 1:57.3 14-15-13-12 39.8 | 72.8 | 9 M4 | BEBER 8
811 E=27N—L 55.0 a1/2) ) |BRU=Z #)
RIIET7XA7 B:EI/Ja4L ke
\ % 3 | RHEE 1:57.8 4-4-4-5 | 41.7| 70.3 | 2 476 | BAE ()
9/8/16| YOF2D 55.0 ) © ) 95TLy k05T 5747
R:Arrogate B:N\AIv S EvIUyRIT7—1A
=R N s 3 | RS 1:57.9 11-11-7-8 | 41.6 | 69.4 | 13 | 474 |HSKEHE GEH)
EH 4| SRUSY .0 &) gy | MEZ
RAZASRI—F £:AX/FS5XF HBEI7—LA
N _ 4t 3 | FXMGAEA 1:58.4 16-16-16-15| 40.5 | 64.2 | 16 | 434 |RMRSB (#)
1{7|13| FIYXI-L 5.0 &) ) | EEH—E
R:_—oEIL B:YYF—2T-) N\& FiEeF
\ o 5 = tt 3 | ERER 1:58.6 11-11-14-14| 40.8 | 63.0 | 14 | 426 |EAE ()
127014 Y/ NI 7T« 55.0 (3/4) (+6) e
R:AWTz—JI B:HhDAZY 335 Rk B
= S = s 3 | AR 1:58.8 8-8-9-8 |42.0| 63.0 | 15 | 456 |HHEER (EH)
13|5|9 | V=EFAE2—5F 4 55.0 (1 1/8 W | W eI Tu—9-2.2=5
RiRSAYF B:7ITF«4E1—To ERRIS
> S 3 | #UWELFE 1:59.3 2-1-1-2 | 43.6| 61.4 | 7 492 | RLFEE GEH)
1Y 5 | DA VILUTY 38D & o | @ 4T
RiO—IRAA XA B4V EST s R she
s 3 | #LANE 1:59.9 5-5-11-13 [42.7 | 55.9 | 12 | 424 | ERiGH (5)
154 3| bX* 5.0 @ 1y | HEEE
RiAZASRZI—5 8:UNLPIIR—S5 RIS
~ - s 3 | AllsieA 2:01.5 7-8-14-16 | 43.7 | 46.2 | 11 | 468 |KBEL )
i ¢ (e % b 55.0 10 -4) (ﬁ)ﬁﬁr’#ﬂl%
RiAFA0 B:FRTITAUR RIS
[ BN
En'w 53.2-40.2
NOVIA L | 12.6-11.6-12.8-13.0-12.7-13.0-13.1-13.8-13.3
@ 11— —B&IEfI
13—7F— (+8,10,5)16(3,7)11(6,9,15)-(4,14)2(1,12) 13
20—F— 5(8,10)16(3,7)15(6,9,11) (4,14)-2,12,1,13
30—7— (+5,8,10) (7,16)15(6,4)-9-2(3,12)1-(14,11)13
43—F— (5,+8,10)7(15,16)6-(9,4)2,12,1,3,14-13-11
o ILRE
BB 2 4,610 JA R 2-12 6,910 % 3E 1-6 13,600 3EE 2-7-12 87,780H
B B 2 1,050 2-7 4,390H 5 & 2-12 31,2004 3EH 2-12-7 885,490MH
12 590 7-12 2,890M =51 2-12 85,680M
7 5104

ABIC OV TRUTEREERRODDZE. THRIIZEL.



